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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-7

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS ERE

07:10 278 150. 0 2.583 E(  FiHRe07:10 KREFEF CGRAMEREEE)
08:00 278 150. 0 2.583 F|  FiHAe08:00 KENFEF (RA{LREIEE
08:55 278 150.0 2.583 &| FiH#fe08:55 KEFEF (KRFERES)
09:55 278 150.0 2. 583 5| FEA@09:55 KENFEFE (RAfEEEE)
10:45 278 150.0 2.583 5| FHAe10:45 REFEF (RAEES)
11:30 278 150.0 2.583 5| FEA@11:30 KENFEF CGRAMEEEE)
12:15 278 150.0 2.583 5| FHA@12:15 KENFEF CGRAIEREE)
13:00 278 150.0 2.583 5| FEAe13:00 KEIEFE CGRAFEESE)
13:45 278 150.0 2.583 5| FHA@13:45 KENFEF CGRAMEEEE)
14:30 278 150.0 2.583 5| FHA@14:30 KENFEF CGRAIEREE)
15:15 278 150.0 2.583 5| FHAe15:15 KEIEFE CGRAMFESE)
16:10 278 150.0 2.583 E(  FiHAe16:10 KREFEF CGRAERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 5.7

##[EKECE (1820.0 vs 3780.0) d5
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P3-7_0, Day=69 (2025-06-06)
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

05:45 273 150.0 2.583 5| {Rig@05:45 Bz (RAERSE)
06:35 273 150. 0 2.583 E  1BRi%e06:35 BE1 (RAERERE)
08:05 273 150.0 2.583 (Z=| {Ri%@08:05 Bzh (FAERSE)
09:10 273 150.0 2.583 FA| {Ri%@09:10 Bz (GRkA{EREE)
10:00 273 150.0 2.583 FA| {Ri%@10:00 Bz (GkAERESE)
10:40 273 150.0 2.583 FA| 1BRi%@10:40 B3h (KRAERSE)
11:30 273 150.0 2.583 FA| {Ri%@11:30 Bz (GRAERE)
12:20 273 150.0 2.583 FA| {Ri%@12:20 Bz CGRAEESE)
13:10 273 150.0 2.583 |Z=| {Ri&e13:10 Bz (REEZERE)
13:55 273 150.0 2.583 (£ =| {Rig@13:55 Bz (REAEDSE)
14:45 273 150.0 2.583 (Z=| 1Ri%e14:45 Bz (REAERSE)
16:00 273 150.0 2.583 |Z=| {Ri&e16:00 Bz (KREAEZEHE)
17:20 273 150.0 2.583 (Z=| 1Rig17:20 B3 (RAERSE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.8

#HEKRECE (1773.0 vs 3803.0) d 5
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970 975 980 1035 1040 1045 400 600 800 1000 425 430 435

m m m m



m=480, FV0=0

41.5 -

41.0 -

40.5

—o—

M_W

480
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m=665,n FV0=0

T
490

44.25 ~

44.00 ~

43.75 A

43. 50 ~

43. 25 ~

43. 00 ~

——

M_W
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650
m=850,n FV0=0

T
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—0—

M_Ww
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860

m=535, FV0=0

42.
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41.
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—0—

M_w
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m=710,n FV0=0

T
565

44,

43.

43.

42.

—o— MW
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71I5
m=890,n FV0=0

T
720

45. 00 -

44.75 A

44.50 A

4425 A

44.00 -

43. 75 A

—— MW

890

895

900

43.

42.

42.

44,

44.

43.

43.

44,
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43.

43.

m=600, FV0=0
—— MW
0_
5_
0_
600 605 610
m=755,m FV0=0
57 —— MW
0_
5_
0_
755 760 765
m=970,m FV0=0
5] —e— W
O_
5_
0_
970 975 980

m=635, FV0=0
—— MW
43.5 -
43.0 -
42.5 -
T T T
635 640 645
m=805,m FV0=0
—— MW
44.5 -
44.0 -
43.5 -
43.0 -
T T T
805 810 815
m=1035p FV0=0
—— MW
44. 25 -
44. 00 -
43.75
43. 50 -
43. 25 -
43. 00 -
1035 1040 1045
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:20 273 150.0 2.583 5| {Rig@08:20 Bz (KRFAMERSE)
08:55 273 150. 0 2.583 E  1BRi&e08:55 BE1 (RAERE)
09:50 273 150.0 2.583 5| 1RiR009:50 Bz (KRFEAEES)
10:35 273 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:15 273 150. 0 2.583 El BRige11:15 Bz CGRAERESE)
11:55 273 150. 0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:35 273 150.0 2.583 = RRiB012:35 B (REAKEE)
13:25 273 150. 0 2.583 E BRige13:25 Bz (GRAERESE)
14:05 273 150. 0 2.583 E| {Rige14:05 B3h (RE{ERLEE)
14:40 273 150.0 2.583 =l {Rig014:40 B3 (RAERSE)
15:20 273 150. 0 2.583 F BRi&e15:20 Bz (GRAEREE)
16:05 273 150.0 2.583 5| {Ri%e16:05 Bz (FRAERSE)
17:00 273 150.0 2.583 =l RRiB0@17:00 Bz (REAEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (47:284.0), set to 47 ml.
FEIKRECE (1780. 0 vs 3540.0) 535




P3-7_0, Day=67 (2025-06-04)

0 e S S A S S S s e ]
VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET - 3000
2300 352 ~
100 1984 .
1700 709" 2000 ©
373 E
_ >
50 00 - 1000 &
60 Warning: lcol [FVI',| "FVO’'] missing
0 -0
900 4 30. 0
T
€ 150 279
E_ B Ll
_ 100 4 25.0 <!
_— L 22.5
[
L 20.0
1.0
4
0.8
0.6
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6
0.4
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6
0.4
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
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< 1 E
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c 1 c
- ByWoFv 1@D69 01:55: ET=1709 Fg=1950.0 Ro=413.0 <
= 200 A I oo o o - 2000 2
£ ,/i o
= 100 - : . I I - 1000 ug
i ' | HE 1 °
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10155 1 2 3 4 5 6 7 8 9 [0 T2 1311411617 8]i09]2I21]2[223]°
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0.6
0.4
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RH
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e ?.“M e v P
3 m @ e ﬁ




24,

24.

24.

24.

24.

23.

25.

25.

25.

24.
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25.
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24.

24.
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24 -
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22 -

21 -

—O—

e W

M_E

T T
800 1000

m=585,m FV0=0

T
600

—o— M_E

7

560 565
m=725,n FV0=0

—o— M_E

750 7é5
m=865,n FV0=0

-o— M_E

i

865 870 875

22.

21.

21.

21.

21.

20.

25.

24.

24,

24.

24,

25.

25.

25.

24.

24.

25.

25.

25.

24.

24.

m=455, FV0=0

00 1 —o— ME
75
50 -
25 4
00 -
75
455 460 465
m=620,m FV0=0
—o— ME
0 .
8 .
6 .
4 .
2 .
620 625 630
m=755,m FV0=0
49 —o— ME
2 .
0 .
8 .
6 .
755 760 765
m=900,m FV0=0
49 —o— ME
2 .
0 .
8 .
6 .

900 905 910

m=495, FV0=0
23.00 - & ME
22.75 1
22.50 4
22. 25 1
22.00 4
21.75 4
T T T
495 500 505
m=655,m FV0=0
25.2 —
25.1 4
25.0
24.9 4
24.8
T T T T
657.5 660.0 662.5 665.0 667.5
m=785,m FV0=0
—o— MNE
25.2 1
25.0
24.8
24. 6 1
785 790 795
m=945,m FV0=0
—e— MNE
25.2 1
25.0 1
24.8 1
24.6

945 950 955

24.

23.

23.

23.

23.

23.

22.

25.

25.

24.

24,

24

25.

25.

24,

24,

24.
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25.

24.

24.

m=540, FV0=0
01 —o— ME
8 .
6 .
4 .
2 .
0 .
8 .
540 545 550
m=690,m FV0=0
—o— ME
2 .
0 .
8 .
6 .
4 .
690 695 700
m=830,m FV0=0
—o— ME
2 .
0 .
8 .
6 .
4 .
830 835 840
m=985,m FV0=0
27 —o— ME
0 .
8 .
6 .

985 990 995




24.

24.

24.

24.

38.

37.

37.

36.

41.

41.

40.

43.

43.

43.

43.

42,

42.

42.

m=1040, FV0=0
—e— ME
8 -
6 -
4 -
2 -
1040 1045 1050
m=540,m FV0=0
ol —e— wmuw
5 -
0 -
5 -
540 545 550
m=690,m FV0=0
—— MW
5 -
0 -
5 -
690 695 700
m=830,m FV0=0
754 —e— MW
50 -
25
00 -
75
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25 B T T T
830 835 840

44 4

42

40 -

38 -

36

34

M_w

T T
800 1000

m=585,m FV0=0

T
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39.0 A

38.5 -

38. 0 -

M_W

560 5é5
m=725,n FV0=0

42.5 A

42.0 A

41.

41.

7é0 7é5
m=865,n FV0=0
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44.50

44. 25 A

44.00 -

43.75 A
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43. 25 A

-— M

7
w

865 870 875

m=455, FV0=0
35.5 - MW
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34.5
34.0 -
T T T
455 460 465
m=620,m FV0=0
—— MW
40.0
39.5 A
39.0 A
T T T
620 625 630
m=755,m FV0=0
—— MW
43.0 -
42.5 -
42.0
755 760 765
m=900,m FV0=0
-— MW
44.75 ~
44.50 A
44. 25 ~
44.00 ~
43.75 A
43. 50 ~

900 905 910
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41.
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44.
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44.
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m=495, FV0=0
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560 565
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T T T
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m=785,m FV0=0

T
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25 A
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25 -
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m=985, FV0=0
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P3-7

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

06:55 300 150. 0 2.583 E 1BRi&e06:55 Fz (RAERE)
07:45 300 150. 0 2.583 E|  {Ri1ge07:45 Fzh (KRFE{EREE)
09:00 300 150.0 2.583 = {Ri%@09:00 Fz (KRAERSE)
10:00 300 150.0 2.583 =l RRiB@10:00 Fzh (RAKEE)
10:50 300 150. 0 2.583 El 1BRi&010:50 Fzh CGRAEREE)
11:35 300 150.0 2.583 =l {Rige11:35 Fz1 (REAERSE)
12:20 300 150.0 2.583 Sl {Rige12:20 Fz (RAERSE)
13:05 300 150. 0 2.583 E| {Rig013:05 Fzh (REERSE)
13:50 300 150.0 2.583 F BRi%e13:50 Fz1 GRAERESE)
14:35 300 150.0 2.583 S| {Rige14:35 F3 (KRAERSE)
15:25 300 150. 0 2.583 E BRige15:25 Fz1 CGRAERESE)
16:15 300 150.0 2.583 E BRige16:15 Fz1 (GREAERESE)
24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 3327.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=66 (2025-06-03)

150 Fo—————F——————F——————F-—————F——————F——————F-—————F——————F——————F——————f——————F—————]
VI, V@FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1984 | 000
1700 662 -
100 4 1300 311 413 1500 &
F 1000 ~
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0 Warning: lcol [FVI',| "FVO’'] missing
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HEEEENER "
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Warning: lcol ["WC1',  "WC2'] missing
0.0
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0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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P3-7

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:40 273 150. 0 2.583 E BRi&e07:40 Bzl (GRAERSE)
08:25 273 150.0 2.583 5| {Ri%e08:25 Bz (FAAMERSE)
09:30 273 150.0 2.583 = {RRi8009:30 B (RFAEEE)
10:20 273 150.0 2.583 =l RRiB010:20 Bz (REAEEE)
11:20 273 150. 0 2.583 =l RiB011:20 B3 (REAEESE)
12:20 273 150.0 2.583 =l {Rige12:20 B3 (RAERSE)
13:00 273 150.0 2.583 (Z=| {Ri%@13:00 Bz (RAERSE)
13:35 273 150.0 2.583 |Z=| {Ri&e13:35 Bz (REAEZERE)
14:15 273 150.0 2.583 (Z=| 1Ri&e14:15 Bzh (RAERSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:45 273 150. 0 2.583 |Z=| Rige15:45 Bz (GRAEREE)
16:45 273 150.0 2.583 (Z=| 1Ri%e16:45 Bz (RAEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3460.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=65 (2025-06-02)

T e g g e S S B Sy

VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1931 L 2000
613 —~
100 1300 2671 1500 -
J0a L 1000 S
50 1590 1 =
- 500 -

20 Warning: lcol [FVI',| "FVO’'] missing 0
0 -0
(v —— ME P30.0
400
FRV maxM 97 5

200 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @69 01:55: ET=1270 Fg=1500.0 Ro=211.0

200 A - 2000

100 A - 1000

cumET (ml/plant)

0 [ 1 2 | 3 [ a5 6] 789 JwoJit[12]@[14]15[16][17[18]19[20]21]2723
B IZZ|25 |27 (27 (27| B | B [BE | BF | B | B [BF [ BF | B | B [ S [ BF | RE | B [ R [ BF | B | B
200 - I - 2000

ByEt @D65 19:23: ET=1614 Fg=1289.0 Ro=nan l
T
/\./Il/r e e; & o o o
100 - - 1000

0 - P l 1
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

M 225|220 (25 || B (B | B | B | B | B [ZF|(Z3T|Z(Z-|(25| B [B (2| B [ B | B

1
ByWon:@D69 01:55: ET=1467 Fg=1800.0 Ro=384.0

cumET (ml/plant)

200 A - 2000

100 A - 1000

cumET (ml/plant)

1.0 A

0sl B |B=|52 2718227 57| & | % | & | % | % | % 5222|5752 |5| % | % 5= & | @ | &

0.6

0.4+

0.2~

|
| _obs
PPFD_obs
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RH_obs
RHo _obs




m=520, FV0=0 m=535, FV0=0 m=660, FV0=0

—o— ME | 24907 —o— ME —o— ME
23.75 1
24. 25 - 23.5 -
23. 50 -
24.00 -
23. 25 -
23.0 -
22. 75 - 23. 50 1 22.5 -
22.50 2395 -
T T T T T T T T T T T T T
600 800 1000 1200 520 525 530 555 560 565 660 665 670
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